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Salary

Ilustration 1: Mr. X is employed in ABC Ltd. since 01.07.2007 in the pay scale of 11,000 — 500 —
14,500 — 1200 — 20,500 — 1,500 — 28,000. The employer has paid dearness allowance @ 20% of his basic
pay from 01.04.2019 to 30.09.2019 and thereafter dearness allowance was allowed @ 25% of basic pay.
Compute his Income under the head Salary for Assessment Year 2020-21.
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Mlustration 2: Mr. X joins ABC Ltd. on 1st July’ 2010 in the pay scale of 20,000 — 500 — 25,000 — 700 —
30,600 — 1,000 — 37,600. The company has allowed him dearness allowance @ 5% of the basic pay from
01.04.2019 upto 30.06.2019 and thereafter dearness allowance was allowed @ 11% of the basic pay but
upto 31.12.2019 and after that dearness allowance was allowed @ 18% of the basic pay. Compute his
Income under the head Salary for the Assessment Year 2020-21.

s, 2 [0 & vy’ (&, Ui 1/03/2090 AL 216¥ 20,000 — Y00 — 21,000 — 300 — 30,400 — .000 -
33,500 <L YoUIR {10 <listl U2 o718l HU[As dHe Hital<] G128 Yo UIUR <l UY% UHIBL dL1 /0%/ 201 4l
30/ 0% /209 YHl 252 v AR 6L 11 % UHIBL dL 39/12/209¢ YHL Y52 2l AR BUIE 1<% UHIGL
Y5, ded vl 42020 -2 fl wauz dl 2495 -l avid<l s2i.

Hlustration 3:

Mr. X is employed in ABC Ltd. getting basic pay Rs. 60,000 p.m. and dearness allowance Rs.
10,000 p.m. (forming part of salary). Employer has paid bonus Rs. 20,000 during the year. Commission
was allowed @ 2% of sales turnover of Rs.50,00,000. The employer and employee both are contributing
Rs. 11,000 p.m. (each) to the Recognized provident fund. During the year interest of Rs. 1,00,000 was
credited to the RPF @ 10% p.a. Compute Income under the head Salary of Mr. X for A.Y. 2020-21.
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Illustration 4 : Mr. X retired from ABC Ltd. and received RPF balance as given below: Employer
Contribution 5,00,000 - 15%

Employee contribution 5,00,000 - 15%

Interest employer contribution 1,00,000 - 10% p.a.

Interest employee contribution 1,00,000 - 10% p.a. The employee has not complied with even a single
condition prescribed for this purpose, taxable amount shall be.
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Hlustration 5 : Mr. X is employed in ABC limited basic pay 70,000 per month, D.A. 30,000 per month
, Bonus "50,000 and commission @ 1% on sales turnover of 100 Lakh. Employer has contributed
*18,000 per month to Unrecognized provident fund and employee has also contributed an equal amount.
During the year Interest of "2,00,000 was credited on employee plus employer contribution @ 10% per
annum. Compute his Income under the head Salary .
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Hlustration 6: Mr. X is employed in ABC Ltd. getting basic pay "20,000 p.m., dearness allowance *7,000
p.m. and half of the dearness allowance forms the part of salary for the purpose of retirement benefits.
The employer has paid bonus @ "500 p.m., commission @ 1% on the sales turnover of ‘20 lakhs. The
employer paid him house rent allowance ‘6,000 p.m. Employee has paid rent *7,000 p.m. and was posted
at Agra. Compute his Taxable Income under the head Salary for the Assessment Year 2020-21.
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Ilustration 7 : Compute taxable amount of house rent allowance in the following cases:

Basic Pay 20,000 20,000 20,000 20,000 p.m.
p-m. p-m. p-m.

House rent allowance 5,000 5,000 p.m. 5,000 p.m. 5,000 p.m.
p-m.

Rent paid 1,500 12,000 14,000 p.m  Nil
p-m p-m

Place of residence Delhi Delhi Delhi Delhi
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Ilustration 8:

Mr. X is employed in ABC Ltd. getting basic pay 20,000 p.m. but it was increased to "30,000 p.m. w.e.f.
01.09.2019. The employer was paying him house rent allowance 6,000 p.m. but it was decreased to
*3,000 p.m. w.e.f. 01.11.2019. The employee was paying rent "4,000 p.m. but it was increased to 7,000
p.m. w.e.f. 01.12.2019. The employee was posted at Amritsar but was transferred to Calcutta w.e.f.
01.02.2020. The employee has resigned w.e.f. 01.03.2020. Compute his taxable amount of house rent
allowance for the Assessment Year 2020-21.
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Illustration: (H.W)

Mr. X is employed with XY Ltd. on a basic salary of 10,000 p.m. He is also entitled to Dearness
allowance @ 100% of basic salary, 50% of which is included in salary as per terms of employment. The
company gives him house rent allowance of 6,000 p.m. which was increased to * 7,000 p.m. with effect
from 01.01.2020. He also got an increment of * 1,000 p.m. in his basic salary with effect from 01.02.2020.
Rent paid by him during the previous year 2019-20 is as under:

April and May, 2019 - Nil, as he stayed with his parents.

June to October, 2019 - * 6,000 p.m. for an accommodation in Ghaziabad.

November, 2019 to March, 2020 - * 8,000 p.m. for an accommodation in Delhi.
Compute the gross salary for Assessment Year 2020-21.
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[lustration: (H.W)

Mr. X is employed with XYZ Ltd. on a basic salary of *10,000 p.m. He is also entitled to Dearness
allowance @ 100% of basic salary, 50% of which is included in salary as per terms of employment. The
company gives him house rent allowance of * 6,000 p.m. which was increased to * 7,000 p.m. with effect
from 01.01.2020. He also got an increment of * 1,000 p.m. in his basic salary with effect from 01.02.2020.
Rent paid by him during the previous year 2019-20 is as under:

April and May, 2019 - Nil, as he stayed with his parents.

June to October, 2019 - * 6,000 p.m. for an accommodation in Ghaziabad.
November, 2019 to March, 2020 - * 8,000 p.m. for an accommodation in Delhi.
Compute the gross salary for Assessment Year 2020-21.
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Hlustration 9 : Mr. X is employed in Central Government getting basic pay "18,000 p.m., dearness
allowance 6,000 p.m. Employer has paid children education allowance "700 p.m. per child w.e.f.
01.09.2019 and hostel allowance of *1,000 p.m. for one child w.e.f. 01.10.2019.

Employer has paid transport allowance "1,700 p.m. w.e.f. 01.11.2019. Employer has paid house rent
allowance *5,000 p.m. w.e.f 01.01.2020.

The employee has resigned from 01.02.2020 and has taken up a new job w.e.f. 01.03.2020. He is getting
basic pay "27,000 p.m. and house rent allowance 4,000 p.m. Compute his Taxable Income under the head
salary for the Assessment Year 2020-21.
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Hlustration 10 :Mr. X is employed in central Government getting basic pay ‘30,000 p.m., dearness
allowance 7,000 p.m., servant allowance ‘2,000 p.m., entertainment allowance ‘1,000 p.m., city
compensatory allowance 600 p.m. Compute his Taxable Income under the head salary of Mr. X.
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Hlustration 11: Mr. X receives the following emoluments during the previous year ending 31.03.2020.
Basic pay ' 40,000 Dearness Allowance * 15,000 Commission * 10,000 Entertainment allowance * 4,000
Medical allowance * 10,000 Professional tax paid * 3,000 (" 2,000 was paid by his employer) He has no
other income. Determine the income from salary for A.Y. 2020-21, if Mr. X is a State Government
employee.
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Iustration 12: Mr. X employed in ABC Ltd. and getting basic pay 320,000 p.m., dearness allowance X
10,000 p.m. and 50% of DA forms part of salary. Employer has paid bonus X 1,000 p.m. commission
2,000 p.m. children education allowance Z 150 p.m. per child for 3 children and hostel allowance X 500
p.m. for one child and entertainment allowance X 500 p.m., transport allowance X 1,800 p.m. Employer
has paid professional tax X 200 p.m. on behalf of the employee. Employer has provided him club facility
and has paid membership fee X 1,000 p.m. Employer has provided him rent free accommodation for
which rent paid by employer is X 11,000 p.m. Compute his taxable salary income for the A.Y. 2020-21.
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Mlustration 13 : Mr. X is employed in ABC Ltd. getting basic pay X 37,000 p.m., dearness allowance X
32,000 p.m. The employer has provided him rent free accommodation at a place with population of 13
lakhs and the rent paid by the employer is X 10,000 p.m. The employer has provided him furniture with
original cost X 1,50,000. However, the employer has discontinued the facility of rent free accommodation
and furniture both w.e.f. 1st March, 2020. He has paid him house rent allowance X 7,000 p.m. The



employee has shifted in his own house w.e.f. 01.03.2020. Compute Taxable salary income for the
Assessment Year 2020-21.
(b) Presume in the above illustration the accommodation is owned by the employer.
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